Common-Base Amplifier Example - Spring 2002

— Xy
Rp(xy): X+y Function for calculating parallel resistors.

R,:=100000  R,:=120000 R:=4300 Rpgi=5600 Rg:=100 R :=10000

V plus =15 V minus =15 Vggi=065 V1:=0025 B:=99  «:=0.99
ry:=20 r o *=50000
vgi=1 With v ¢ =1, the voltage gain is equal to v .
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DC Bias Circuit
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Test for Active Mode
V=V us— @1 gRe V=4115
VB =V minust!eRe*TVpe VB =003
Veg=Ve-Ve Veg*= 4.146 Thus active mode.



AC Signal Circuit
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Circuit for v
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Vo= e R P<th* r ic> vV, = 26.862 This is the voltage gain.



Circuit for " out
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rin::RP<rie'RE>

Fin = 10.549

The following solution is based on the r ; approximations.
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V- 26.862

Percent:=——.100
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C _qaare 3
i o = 8.987¢10

V= 26.861 This is the voltage gain.

3

Percent = ~3.028¢10 This is the percent change from

the exact value.

4630103
I out = 4263010

r in = 10.549



